EARAROBEEIERT — 2 N— IBISH —F

2018%8H26H (H) 5EIKR5H

IGB C 2 t# Y 7R —#% ‘ (%] 2 ‘ (arsml  — | & (B) 14000 B
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
“ . o KIFIE 132, ~7-4- . — FEF= (BE)
1 3| ¥y)&aO—-2Xx 4 9 Foies 1(3_2)1 6-7-4-4 | 41.0 9 (4_133; FA/EEEQ—
LTI 1Fq =429 B:RE2—FvU/IN— Lakikier]
: NV AR 132, -3-3- . - EEE= (R
ol5|5|F92ayvT R B e voer e 1 ?_ii EHER
L:7UF—v BRFARLFIZ Al Al
o7 | EAE 1:32.3 2-2-2-1 |41.4| — 8 482 | FEF= (BER)
3077 Favav/v g 56.0 (F745%) ) (&) k-5 7
LHISTLIF N BiTr—LhLyd N 4535
o EAATE : —1-1- — 1EEKEZ (KR)
4|11 Py To=sLy b R R B R Sl e
L2914 T hALY N BTHAFILAHLR () HAa-KRL—Ya>AET7
R o6 | AHERE 1:32.9 8-8-8-9 |41.0| — 10 | 508 |ERAS (KR)
5/8[10| *E Y7y R 55.0 (1/2) (-10) | EEIES
RiFZRAHE—y BTIARY YR HO% S
N o4 | WOB— 1:33.0 10-9-9-7 [41.2| — 3 444 | HEEFE (KIR)
EE 2 INT Ny B 56.0 (1/2) -5) KEEEF
R:T5v 784K B>/ xJ3 Lakibie
I g— 4 4 | BEAXIE 1:33.1 5-5-6-6 | 41.8| — 6 07 | ERAE (KR)
707l 8| 7¥¥ 33 540 5¥) Ch |EEne
L:g— MR B I3FUFv> HET77—L4
Y . e _ BEAS (K
8 4| RE—T1ua # 6 fsﬁf) 1.(313).3 9-10-9-7 [41.5 5 ;1_224) ;gﬁ_ (KiR)
R:y07% BIIAENT—H TS
. Akt .34, 64— . — FER (KiR)
9 N A ST 6 = 1 (354) 1 7-6-4-5 | 43.0 7 (32) Bl
R:d—IR7Ya—)b B:HOXF2-—-% BRT7—LI
o «« Bl BB AR :34. ~4-7- . — HEEE (KR)
olglo| 7EU—€T - B4 52.0 1(344)8 3-4-7-10 | 43.3 2 (4_434) faaEs
L:a214x 0 ML B:Jn)—LA TR
® 1—F—@EBIERL
13—4+— 1,7,9,5,8,3,6,10,4,2
20—F— 1,7,5,9,8,6,3,10,2,4
== 1,7,5,(3,6),8,9,10, (2,4)
40—F— 7,5,1,3,6,8,(2,4),10,9
[ /N
B 3 4,570 714K 3-5 2,100/ B 3-5 8,250/ JEE 3-5-7 23,970
B B 3 710H 3-7 5,660 B = 850 4,720 JEE ST 215,120/
5 170 5-7 1,080M B H 3-5 19,380M
7 390F9

ABICOVWTRDTEEERROODE. TR LIV,




